

EXPLICIT EXPRESSIONS FOR A CERTAIN SUBSET OF APPELL POLYNOMIALS: A PROBABILISTIC PERSPECTIVE

José A. Adell¹

Departamento de Métodos Estadísticos, Facultad de Ciencias, Universidad de Zaragoza, Zaragoza, Spain adell@unizar.es

Alberto Lekuona

Departamento de Métodos Estadísticos, Facultad de Ciencias, Universidad de Zaragoza, Zaragoza, Spain
lekuona@unizar.es

Received: 1/16/20, Revised: 1/22/21, Accepted: 5/11/21, Published: 5/27/21

Abstract

We consider the subset \mathcal{E} of Appell polynomials whose generating function is given in terms of a real power of the moment generating function of a certain random variable Y. This subset contains different kinds of generalizations of the Bernoulli, Apostol-Euler, Cauchy-type, Hermite, and Miller-Lee polynomials, among others. We give a unified approach to obtain explicit expressions for those Appell sequences in \mathcal{E} . The main tool is a suitable probabilistic generalization of the Stirling numbers of the second kind.

1. Introduction and Main Result

Let \mathbb{N} be the set of positive integers and $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$. Unless otherwise specified, we assume from now on that $n \in \mathbb{N}_0$, $x \in \mathbb{R}$, and $z \in \mathbb{C}$ with $|z| \leq r$, where r > 0 may change from line to line. Denote by \mathcal{G} the set of real sequences (u_n) such that $u_0 \neq 0$ and

$$\sum_{n=0}^{\infty} |u_n| \frac{r^n}{n!} < \infty,$$

for some radius r > 0. Let $(A_n(x))$ be a sequence of polynomials such that $(A_n(0)) \in \mathcal{G}$. Recall that $(A_n(x))$ is called an Appell sequence if one of the following equivalent conditions is satisfied

$$A_n(x) = \sum_{k=0}^n \binom{n}{k} A_k(0) x^{n-k},$$
 (1)

¹Corresponding author.

INTEGERS: 21 (2021)

2

or, in terms of its generating function,

$$\sum_{n=0}^{\infty} A_n(x) \frac{z^n}{n!} = e^{xz} \sum_{n=0}^{\infty} A_n(0) \frac{z^n}{n!}.$$
 (2)

An interesting problem, widely considered in the literature, is to find explicit expressions for the different examples of Appell polynomials (see the references throughout Section 2). Usually, this problem has been faced in each particular case, taking into account the form of the Appell sequence under consideration. In this paper, we give a unified approach to obtain explicit expressions within a certain subset \mathcal{E} of Appell polynomials which contains different kinds of generalizations of the classical Bernoulli, Apostol-Euler, and Cauchy-type polynomials. Although not considered here, \mathcal{E} also contains the Hermite and the Miller-Lee polynomials (cf. Dattoli et al. [6] and [3]), among others.

To be more precise, let Y be a random variable such that

$$\mathbb{E}e^{r|Y|} < \infty, \tag{3}$$

for some r > 0, where \mathbb{E} stands for mathematical expectation. We consider the subset \mathcal{E} of Appell sequences $(A_n^{(\alpha)}(x))$ whose generating function is given by

$$\sum_{n=0}^{\infty} A_n^{(\alpha)}(x) \frac{z^n}{n!} = \frac{e^{xz}}{(\mathbb{E}e^{zY})^{\alpha}},\tag{4}$$

for some real α . We point out that the particular case $\alpha = 1$ was first considered by Ta [19].

The main tool to obtain explicit expressions for Appell sequences in \mathcal{E} is the following probabilistic generalization of the Stirling numbers of the second kind recently introduced in [4]. Given a random variable Y satisfying (3), we define the numbers $S_Y(n,m)$, $m=0,1,\ldots,n$, by means of their generating function

$$\frac{(\mathbb{E}e^{zY}-1)^m}{m!} = \sum_{n=m}^{\infty} \frac{S_Y(n,m)}{n!} z^n, \quad m \in \mathbb{N}_0,$$
 (5)

or, equivalently, as (cf. [4, Theorem 3.3])

$$S_Y(n,m) = \frac{1}{m!} \sum_{k=0}^m {m \choose k} (-1)^{m-k} \mathbb{E} S_k^n, \quad m = 0, 1, \dots, n,$$
 (6)

where

$$S_k = Y_1 + \dots + Y_k, \quad k \in \mathbb{N} \qquad (S_0 = 0), \tag{7}$$

and $(Y_j)_{j\geq 1}$ is a sequence of independent copies of Y. As follows from (5) or (6), we have for Y=1

$$S_1(n,m) = S(n,m),$$

S(n,m) being the classical Stirling numbers of the second kind. Other generalizations of these numbers can be found in Mező [16], El-Desouky et al. [7] and the references therein.

With the preceding ingredients, we state the main result of this paper.

Theorem 1. Let $\alpha \in \mathbb{R}$. For any Appell sequence $(A_n^{(\alpha)}(x)) \in \mathcal{E}$, we have

$$A_n^{(\alpha)}(0) = \sum_{m=0}^n {\binom{-\alpha}{m}} m! S_Y(n,m) = \sum_{k=0}^n {\binom{-\alpha}{k}} {\binom{n+\alpha}{n-k}} \mathbb{E} S_k^n.$$
 (8)

Proof. By dominated convergence, we can assume without loss of generality that $|\mathbb{E}e^{zY}-1|<1, |z|< r$. Applying the binomial expansion in (4), we have from (5)

$$\begin{split} & \sum_{n=0}^{\infty} A_n^{(\alpha)}(0) \frac{z^n}{n!} = (\mathbb{E}e^{zY})^{-\alpha} = \left(1 + \mathbb{E}(e^{zY} - 1)\right)^{-\alpha} = \sum_{m=0}^{\infty} \binom{-\alpha}{m} \left(\mathbb{E}e^{zY} - 1\right)^m \\ & = \sum_{m=0}^{\infty} \binom{-\alpha}{m} m! \sum_{n=m}^{\infty} \frac{S_Y(n,m)}{n!} z^n = \sum_{n=0}^{\infty} \frac{z^n}{n!} \sum_{m=0}^{n} \binom{-\alpha}{m} m! S_Y(n,m), \end{split}$$

which shows the first equality in (8). On the other hand, we have from (6)

$$\begin{split} &\sum_{m=0}^{n} \binom{-\alpha}{m} m! S_Y(n,m) = \sum_{m=0}^{n} \binom{-\alpha}{m} \sum_{k=0}^{m} \binom{m}{k} (-1)^{m-k} \mathbb{E} S_k^n \\ &= \sum_{k=0}^{n} \mathbb{E} S_k^n \sum_{m=k}^{n} \binom{-\alpha}{m} \binom{m}{k} (-1)^{m-k} = \sum_{k=0}^{n} \binom{-\alpha}{k} \binom{n+\alpha}{n-k} \mathbb{E} S_k^n, \end{split}$$

where the last equality comes from the elementary combinatorial identity

$$\sum_{i=0}^{p} \binom{s+i}{i} = \binom{s+1+p}{p}, \quad p \in \mathbb{N}_0, \quad s \in \mathbb{R}.$$

This shows the second equality in (8) and completes the proof.

In view of (1), Theorem 1 gives us two explicit expressions for any Appell sequence $(A_n^{(\alpha)}(x)) \in \mathcal{E}$. The first one in terms of the numbers $S_Y(n,m)$. In this respect, closed form expressions for such numbers for various choices of the random variable Y can be found in [4]. The second one in terms of the moments of the random variable Y. In fact, denote by

$$\mu_j = \mathbb{E}Y^j, \quad j \in \mathbb{N}_0, \tag{9}$$

the *j*th moment of Y. Observe that we have from (7)

$$\mathbb{E}S_k^n = \sum_{j_1 + \dots + j_k = n} \frac{n!}{j_1! \cdots j_k!} \, \mu_{j_1} \cdots \mu_{j_k}, \qquad k \in \mathbb{N}_0.$$
 (10)

For $\alpha = 1$, Theorem 1 takes on the form

$$A_n^{(1)}(0) = \sum_{m=0}^n (-1)^m m! S_Y(n,m) = \sum_{k=0}^n \binom{n+1}{k+1} (-1)^k \mathbb{E} S_k^n,$$

the first three terms being

$$A_0^{(1)}(0) = 1$$
, $A_1^{(1)}(0) = -\mu_1$, $A_2^{(1)}(0) = 2\mu_1^2 - \mu_2$.

2. Examples

In this section, we show that various kinds of generalizations of classical Appell sequences belong to \mathcal{E} , and obtain explicit expressions for them by applying Theorem 1.

Example 2.1 Generalizations of Bernoulli polynomials. We consider the polynomials $B_n^{(\alpha)}(x;m)$ defined by means of the generating function

$$\sum_{n=0}^{\infty} B_n^{(\alpha)}(x;m) \frac{z^n}{n!} = \left(\frac{z^m/m!}{e^z - \sum_{k=0}^{m-1} z^k/k!}\right)^{\alpha} e^{xz}, \qquad \alpha \in \mathbb{R}, \quad m \in \mathbb{N}.$$
 (11)

For $\alpha = 1$, such polynomials have been considered in Bretti et al. [5] and Khan and Riyasat [10], among others. Important special cases are the generalized Bernoulli polynomials $B_n^{(\alpha)}(x)$ of order α and the classical Bernoulli polynomials $B_n(x)$ respectively given by

$$B_n^{(\alpha)}(x) = B_n^{(\alpha)}(x;1), \qquad B_n(x) = B_n^{(1)}(x).$$
 (12)

Let β_m be a random variable having the beta density

$$\rho_m(\theta) = m(1-\theta)^{m-1}, \quad 0 \le \theta \le 1. \tag{13}$$

Corollary 1. Let $\alpha \in \mathbb{R}$ and $m \in \mathbb{N}$. Then, $(B_n^{(\alpha)}(x;m) \in \mathcal{E}$ with

$$\sum_{n=0}^{\infty} B_n^{(\alpha)}(x;m) \frac{z^n}{n!} = \left(\mathbb{E}e^{z\beta_m} \right)^{-\alpha} e^{xz}. \tag{14}$$

Moreover

$$B_n^{(\alpha)}(0;m) = n! \sum_{k=0}^n {\binom{-\alpha}{k}} {\binom{n+\alpha}{n-k}} (m!)^k \sum_{j_1+\dots+j_k=n} \frac{1}{(m+j_1)! \cdots (m+j_k)!}.$$
 (15)

In particular,

$$B_n^{(\alpha)}(0) = \sum_{k=0}^n {\binom{-\alpha}{k}} {\binom{n+\alpha}{n-k}} \frac{S(n+k,k)}{\binom{n+k}{n}}.$$
 (16)

Proof. Using the finite Taylor expansion with remainder in integral form (see also [1, Lemma 7]), we have

$$e^z - \sum_{k=0}^{m-1} \frac{z^k}{k!} = \frac{z^m}{m!} \mathbb{E}e^{z\beta_m}.$$

This, together with (11), shows (14). By (9) and (13), the jth moment of the random variable $Y = \beta_m$ is given by

$$\mu_j = \mathbb{E}(\beta_m)^j = m \int_0^1 \theta^j (1 - \theta)^{m-1} d\theta = m\beta(j+1, m) = \frac{1}{\binom{m+j}{m}}, \quad (17)$$

for any $j \in \mathbb{N}_0$. As follows from (10) and (17), we have in the case at hand

$$\mathbb{E}S_k^n = n!(m!)^k \sum_{j_1 + \dots + j_k = n} \frac{1}{(m+j_1)! \cdots (m+j_k)!}.$$

Hence, (15) follows from the second equality in (8). Finally, assume that m=1. As follows from (13), the random variable $Y=\beta_1$ has the uniform distribution on [0, 1]. Sun[18] (see also [8, formula (38)]) showed the following probabilistic representation for the Stirling numbers of the second kind

$$S(n,k) = \binom{n}{k} \mathbb{E} S_k^{n-k}, \quad k = 0, 1, \dots, n,$$

$$(18)$$

where S_k is the sum defined in (7) when $Y = \beta_1$. Therefore, equality (16) follows from (18) and the second equality in Theorem 1. The proof is complete.

Formula (16) was already obtained by Todorov [21, Eq. (3)] using different techniques (see also Srivastava and Todorov [17]). A different representation for the Bernoulli numbers in terms of the Stirling numbers of the second kind was provided by Guo and Qi [9, Theorem 3.1]. For $\alpha \in \mathbb{N}$, a similar formula to that in (16) was obtained by Kim et al. [11] using umbral calculus techniques. For generalized Apostol-Bernoulli polynomials of integer order, we refer the reader to Luo and Srivastava [14].

Example 2.2 Generalizations of Apostol-Euler polynomials. Let $\alpha \in \mathbb{R}$ and $0 \le \beta \le 1$. We consider the generalized Apostol-Euler polynomials $E_n^{(\alpha)}(x;\beta)$ of real order α defined via their generating function as

$$\sum_{n=0}^{\infty} E_n^{(\alpha)}(x;\beta) \frac{z^n}{n!} = \frac{e^{xz}}{(1+\beta(e^z-1))^{\alpha}}.$$
 (19)

The Apostol-Euler polynomials and the classical Euler polynomials are defined, respectively, as

$$E_n(x;\beta) = E_n^{(1)}(x;\beta), \qquad E_n(x) = E_n(x;1/2).$$

Up to a constant factor, the polynomials $E_n^{(\alpha)}(x;\beta)$ were introduced by Luo [13] (see also Wang et al. [23]).

Let $X(\beta)$ be a random variable having the Bernoulli law

$$P(X(\beta) = 1) = 1 - P(X(\beta) = 0) = \beta.$$
(20)

Corollary 2. Let $\alpha \in \mathbb{R}$ and $0 \le \beta \le 1$. Then, $(E_n^{(\alpha)}(x;\beta) \in \mathcal{E}$ with

$$\sum_{n=0}^{\infty} E_n^{(\alpha)}(x;\beta) \frac{z^n}{n!} = \left(\mathbb{E}e^{zX(\beta)} \right)^{-\alpha} e^{xz}. \tag{21}$$

In addition,

$$E_n^{(\alpha)}(0;\beta) = \sum_{m=0}^n {-\alpha \choose m} \beta^m m! S(n,m).$$
 (22)

Proof. Formula (21) is an immediate consequence of (19) and (20). On the other hand, since

$$\mathbb{E}e^{zX(\beta)} - 1 = \beta(e^z - 1),$$

formula (5) immediately yields

$$S_{X(\beta)}(n,m) = \beta^m S(n,m), \quad n,m \in \mathbb{N}_0, \quad m \le n.$$

Thus, (22) follows from the first equality in (8).

When α is a positive integer, formula (22) was also shown by Kim et al. [11] using umbral calculus. A similar, but more involved formula than that in (22), was obtained by Luo [13].

Example 2.3 Cauchy-type polynomials. For any $\alpha \in \mathbb{R}$, we consider the Cauchy-type polynomials $C_n^{(\alpha)}(x)$ defined via their generating function as

$$\sum_{n=0}^{\infty} C_n^{(\alpha)}(x) \frac{z^n}{n!} = \left(\frac{z}{\log(1+z)}\right)^{\alpha} e^{xz}.$$
 (23)

For related polynomials and numbers, we refer the reader to Merlini et al. [15], Komatsu and Ramírez [12], and the references therein.

Let U and T be two independent random variables such that U is uniformly distributed on [0,1] and T has the exponential density $\rho(\theta)=e^{-\theta}$, $\theta \geq 0$. On the other hand, denote by s(n,k), $k=0,1,\ldots,n$, the classical Stirling numbers of the first kind.

Corollary 3. Let $\alpha \in \mathbb{R}$. Then, $(C_n^{(\alpha)}(x)) \in \mathcal{E}$ with

$$\sum_{n=0}^{\infty} C_n^{(\alpha)}(x) \frac{z^n}{n!} = \left(\mathbb{E}e^{-zUT} \right)^{-\alpha} e^{xz}. \tag{24}$$

Moreover,

$$C_n^{(\alpha)}(0) = \sum_{k=0}^n {\binom{-\alpha}{k}} {\binom{n+\alpha}{n-k}} \frac{s(n+k,k)}{\binom{n+k}{n}}.$$
 (25)

Proof. In [2], we have shown that

$$\mathbb{E}e^{-zUT} = \frac{\log(1+z)}{z},$$

which, in conjunction with (23), shows (24). Again in [2], the following probabilistic representation of s(n,k) was established

$$s(n,k) = \binom{n}{k} \mathbb{E} S_k^{n-k}, \quad k = 0, 1, \dots, n,$$
 (26)

where S_k is the sum in (7) when Y = -UT. Thus, equality (25) follows from (26) and Theorem 1. This concludes the proof.

It is worthy to note that identities (16) and (25) only differ in the kind of the Stirling numbers considered. In fact, these two identities are special cases of those in Wang [22, Theorem 6.3 and Example 7.1].

Example 2.4 Further Appell polynomials. For any $\alpha \in \mathbb{R}$, denote by $D_n^{(\alpha)}(x)$ the polynomials defined as

$$\sum_{n=0}^{\infty} D_n^{(\alpha)}(x) \frac{z^n}{n!} = \left(\frac{z}{\sinh(z)}\right)^{\alpha} e^{xz}.$$
 (27)

For $\alpha = 1$, such polynomials were introduced by Tempesta [20]. On the other hand, let V be a random variable uniformly distributed on [-1, 1].

Corollary 4. Let $\alpha \in \mathbb{R}$. Then, $(D_n^{(\alpha)}(x)) \in \mathcal{E}$ with

$$\sum_{n=0}^{\infty} D_n^{(\alpha)}(x) \frac{z^n}{n!} = \left(\mathbb{E}e^{zV} \right)^{-\alpha} e^{xz}. \tag{28}$$

In addition, $D_{2n+1}^{(\alpha)}(0) = 0$ and

$$D_{2n}^{(\alpha)}(0) = \sum_{k=0}^{2n} {-\alpha \choose k} {2n+\alpha \choose 2n-k} \sum_{j=0}^{2n} {2n \choose j} (-k)^{2n-j} 2^j \frac{S(k+j,k)}{{k+j \choose k}}.$$
 (29)

Proof. Formula (28) readily follows from (27) and the fact that V is uniformly distributed on [-1,1]. Since the function $z/\sinh(z)$ is symmetric, we see from (27) that $D_{2n+1}^{(\alpha)}(0)=0$. Finally, let U be a random variable uniformly distributed on [0,1], and let $(U_j)_{j\geq 1}$ and $(V_j)_{j\geq 1}$ be two sequences of independent copies of U and V, respectively. Since the random variables $2U_j-1$ and V_j , $j\in\mathbb{N}$, have the same law, we have

$$\mathbb{E}(V_1 + \dots + V_k)^{2n} = \mathbb{E}\left(2(U_1 + \dots + U_k) - k\right)^{2n}$$

$$= \sum_{j=0}^{2n} {2n \choose j} (-k)^{2n-j} 2^j \mathbb{E}(U_1 + \dots + U_k)^j$$

$$= \sum_{j=0}^{2n} {2n \choose j} (-k)^{2n-j} 2^j \frac{S(k+j,k)}{\binom{k+j}{k}},$$

where we have used (18) in the last equality. Hence, (29) follows from Theorem 1.

We point out that formula (29) in Corollary 4 has a close relation with that in Wang [22, Table 1, Entry D1].

Let $\alpha \in \mathbb{R}$ and $0 \leq \beta \leq 1$. Finally, we consider the polynomials $\mathcal{B}_n^{(\alpha)}(x;\beta)$ defined by

$$\sum_{n=0}^{\infty} \mathcal{B}_n^{(\alpha)}(x;\beta) \frac{z^n}{n!} = \left(\frac{z}{\beta(e^z - 1) + (1 - \beta)z}\right)^{\alpha} e^{xz}.$$
 (30)

These polynomials are new generalizations of the Bernoulli polynomials, since we have $\mathcal{B}_n^{(\alpha)}(x;1) = B_n^{(\alpha)}(x)$, as defined in (12). Assume that U is a random variable uniformly distributed on [0,1] and independent of $X(\beta)$, as defined in (20).

Corollary 5. Let $\alpha \in \mathbb{R}$ and $0 \leq \beta \leq 1$. Then, $(\mathcal{B}_n^{(\alpha)}(x;\beta)) \in \mathcal{E}$ with

$$\sum_{n=0}^{\infty} \mathcal{B}_n^{(\alpha)}(x;\beta) \frac{z^n}{n!} = \left(\mathbb{E}e^{zX(\beta)U} \right)^{-\alpha} e^{xz}. \tag{31}$$

Moreover,

$$\mathcal{B}_{n}^{(\alpha)}(0;\beta) = \sum_{m=0}^{n} {\binom{-\alpha}{m}} \beta^{m} \sum_{k=0}^{m} {\binom{m}{k}} (-1)^{m-k} \frac{S(n+k,k)}{\binom{n+k}{n}}.$$
 (32)

Proof. Using (20) and the independence between $X(\beta)$ and U, we see that

$$\mathbb{E}e^{zX(\beta)U} = \beta \mathbb{E}e^{zU} + 1 - \beta = \beta \left(\mathbb{E}e^{zU} - 1\right) + 1. \tag{33}$$

This readily implies (31). On the other hand, formulas (5) and (33) imply that

$$S_{X(\beta)U}(n,m) = \beta^m S_U(n,m). \tag{34}$$

INTEGERS: 21 (2021)

Finally, we have from (6) and (18)

$$S_U(n,m) = \frac{1}{m!} \sum_{k=0}^{m} {m \choose k} (-1)^{m-k} \frac{S(n+k)}{{n+k \choose n}}.$$

9

This, together with Theorem 1 and (34), shows (32) and concludes the proof. \Box

Acknowledgements. We thank the referee for his/her comments and suggestions, which greatly improved the final outcome. The authors are partially supported by Research Project PGC2018-097621-B-100.

Reference

- [1] J. A. Adell, J. Bustamante, and J. M. Quesada, Estimates for the moments of Bernstein polynomials, J. Math. Anal. Appl. 432 (2015), no. 1, 114–128.
- [2] J. A. Adell and A. Lekuona, Closed form expressions for the Stirling numbers of the first kind, Integers 17 (2017), #A26, 4pp.
- [3] J. A. Adell and A. Lekuona, Binomial convolution and transformations of Appell polynomials, J. Math. Anal. Appl. 456 (2017), no. 1, 16–33.
- [4] J. A. Adell and A. Lekuona, A probabilistic generalization of the Stirling numbers of the second kind, J. Number Theory 194 (2019), 335–355.
- [5] G. Bretti, P. Natalini, and P. E. Ricci, Generalizations of the Bernoulli and Appell polynomials, Abstr. Appl. Anal. 7 (2004), 613–623.
- [6] G. Dattoli, S. Lorenzutta, and D. Sacchetti, Integral representations of new families of polynomials, Ital. J. Pure Appl. Math. 15 (2004), 19–28.
- [7] B. S. El-Desouky, N. P. Cakić, and F. A. Shiha, New family of Whitney numbers, Filomat 31 (2017), no. 2, 309–320.
- [8] R. L. Graham, D. E. Knuth, and O. Patashnik, Concrete Mathematics, Addison-Wesley Publishing Company, Advanced Book Program, Reading, MA, 1989.
- [9] B.-N. Guo and F. Qi, Some identities and an explicit formula for Bernoulli and Stirling numbers, J. Comput. Appl. Math. 255 (2014), 568-579.
- [10] S. Khan and M. Riyasat, A determinantal approach to Sheffer-Appell polynomials via monomiality principle, J. Math. Anal. Appl. 421 (2015), no. 1, 806–829.
- [11] D. S. Kim, T. Kim, D. V. Dolgy, and S.-H. Rim, Some new identities of Bernoulli, Euler and Hermite polynomials arising from umbral calculus, Adv. Difference Equ. (2013), 2013:73, 11.
- [12] T.Komatsu and J. L. Ramírez, Incomplete poly-Bernoulli numbers and incomplete poly-Cauchy numbers associated to the q-Hurwitz-Lerch zeta function, Mediterr. J. Math. 14 (2017), no. 3, Article 133, 19pp.

INTEGERS: 21 (2021)

- [13] Q.-M. Luo, Apostol-Euler polynomials of higher order and Gaussian hypergeometric functions, *Taiwanese J. Math.* 10 2006, no. 4, 917–925.
- [14] Q.-M. Luo and H. M. Srivastava, Some generalizations of the Apostol-Bernoulli and Apostol-Euler polynomials, J. Math. Anal. Appl. 308 (2005), no. 1, 290–302.
- [15] D. Merlini, R. Sprugnoli, and M. C. Verri, The Cauchy numbers, Discrete Math. 306, no. 16, 1906–1920.
- [16] I. Mező, A new formula for the Bernoulli polynomials, Results Math. 58 (2010), no. 3-4, 329–335.
- [17] H. M. Srivastava and P. G.Todorov, An explicit formula for the generalized Bernoulli polynomials, J. Math. Anal. Appl. 130 (1988), no. 2, 509–513.
- [18] P. Sun, Product of uniform distribution and Stirling numbers of the first kind, *Acta Math. Sin.* (Engl. Ser.) 21 (2005), no. 6, 1435–1442.
- [19] B. Q. Ta, Probabilistic approach to Appell polynomials, Expo. Math. 33 (2015), no.3, 269–294.
- [20] P. Tempesta, On Appell sequences of polynomials of Bernoulli and Euler type, J. Math. Anal. Appl. 341 (2008), no. 2, 1295–1310.
- [21] P. G. Todorov, Une formule simple explicite des nombres de Bernoulli généralisés, C. R. Acad. Sci. Paris Sér. I Math. 301 (1985), no.13, 665—666.
- [22] W. Wang, Generalized higher order Bernoulli number pairs and generalized Stirling number pairs, J. Math. Anal. Appl. 364 (2010), no. 1, 255–274.
- [23] W. Wang, C. Jia, and T. Wang, Some results on the Apostol-Bernoulli and Apostol-Euler polynomials, Comput. Math. Appl. 55 (2008), no. 6, 1322–1332.